Molar Concentration

Stoichiometry Worksheet

Chemistry 11







Miss Tomlinson

1.  When lead (II) carbonate is reacted with 27.5 mL of 3.00 M nitric acid, HNO3, what mass of lead (II) nitrate will be formed? 

2.  When copper is reacted with 208 mL of 0.100 M silver nitrate solution, how many grams of silver are produced?  (assume a combining capacity of 1 for copper)
3.  What volume of 3.00 M hydrochloric acid is required to react with 12.35 g of zinc?

4.  If 17. 5 g of zinc are reacted with phosphoric acid, H3PO4, then zinc phosphate and hydrogen gas are produced.  If the phosphoric acid is a 3.00 M solution, how many litres of the solution are needed.

5.  What volume of NH3(g) at STP would be produced when 25.0 mL of 0.100 M NaOH reacts with NH4NO3? (the other products are H2O and NaNO3)?

6.  How many litres of CO2(g) at STP are required to react with 25.0 mL of 0.0538 M Ba(OH)2 to produce BaCO3 and H2O?  

Excess Quantities

Stoichiometry Worksheet

1.  10.0 g of Zn is reacted with 10.0 g of MgCl2
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a)  Which reagent is in excess?

b)  How much magnesium will be produced?

2.  17.5 g of zinc reacts with 20 mL of 6.00 M phosphoric acid, H3PO4, to form zinc phosphate and hydrogen are produced.  What mass of zinc phosphate will be formed?
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